Use the remainder theorem to find the remainder when each of the following polynomials is
ivided by the linear polynomial given. -

) X +4%-3x+2;,x-2 M) x*-32+2%-1;x+2

) ¥-X+6x+1 d L+2x+1;2x-1

&) X —-2+x+1;2x-3 ) 2+15x-1:3x+1

ctermine whether each of the following linear polynomials is a factor of the polynomial given.

8) x+2;x'+ 40 + 452 b)) x-1;xX+3x%—-6x+3 -
c) x+1; X -2x*+6x+9 @) x-2 P-4 +3x+2 1
e) 2x+1;2°2-32+2x+2 B 2x-1;2+4>2-3x-1

actorise each of the following polynomials. , :
a) 207 -3x*+ 1 (b) 3% -2 —7x-2 [
c) x'—x-72 @ £+ +x i
e) 4xX - 13x+6 ) 4P —9 yx 42 :

(x~2) is a factor of ax® + 3x% — 2x + a, find the value of q.
how that (x — a) is a factor of 2 + (1 - &) + (3 — a)x — 3a.

Wﬁen the polynomial ¥* + ax + b is divided by (x - 1) and (x + 2), its remainder is 4 and 5
spectively. Find the values of 4 and b.

7. When x* + px* + gx + 1 is divided by (x - 2), its remainder is 9; when it is divided by (x
its remainder is 19. Find the values of p and g.

8. The expression 2x° + ax® + b can be divided exactly by (x + 1)

, and its remainder is 16 wi
divided by (x — 3). Find the values of ¢ and b.

10. When the polynomials x* + 4x% — 2x + 1 and x° + 352

=~ X + 7 are divided by (x — D),
remainders are equal. Find the possible values of p. :

11.  The expressions x* — 4x? + x + 6 and x° — 3x2 + 2x + khave a co
values of k.

12. If (x - @) is a factor of the expression ax® — 3x* — 5ax — 9, find the possible values of a. Factori
the expression for each of the values of q.

13. Given that f(x) =2* + kx - 2x + 1 has a remainder k when it is divided by (x — k), find t
possible values of k. , k

14. Find the value of kif (x + 1)is a factor of 2x° + 7x2 + Jox —

3. Using this value of , solve t
equation 2x° + 7x® + kx - 3 = 0,

15. Find the values of ¢ and b if f(x) = ax’ + bx* + 12 can be divided exactly by both (x + 1) an
(x - 2) respectively. With these values of a and b, solve the equation f(x) = 0.

16. The expression x° + ax® + bx — 8 is divisible by (x + 1). When it is divided by (x — 2), i
remainder is 42. Find the values of ¢ and b and the value of the expression when x = 1.

Exercise 2.2 4. _% 6. a=%,b=% o o S 53
1. () 2 {b) 35 {c) -6 1 1. p=3 g=-5 8. 425 b7 S

@ 2 © 15 0 o7 | 9. 4=3 h=-5 10. 3, -2 1425, 1,3
2, (a) Yes (b) No (c) Yes | M. k=6,0-6 i 15, 2=3 b=—9, x=—1,2,2

(d) Yes (&) Yes  No | 12, a=3 3(x-3x+ 1} 16. a=10, b=1:4
3. (@) (xr—122x+1) | a=-3,-3(x+3)x~ 1

) (x+ 1)(x—2Bx+1) |

(©) (x+3)(x—3)(x2+8) 1

(d x(-x+x0 +x+x) !

(&) (x+2)(2x—1)2x—-3) :

M (x+ )x—-22x+ )20 1) i




